A circular disc of radius 0.2 meter is
placed in a uniform magnetic field of

induction % (Vn\g) in such a way that its

axis makes an angle of 60° with B. The
magnetic flux linked with the disc is

(a) 0.08 Wb (b) 0.01 Wb
(¢) 0.02 Wb (d) 0.06 Wb
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A coil of resistance 400 Q is placed ina
magnetic field. If the magnetic flux ¢

(Wb) linked with the coil varies with

time ¢ (sec) as ¢p=50t*+4.The current in
the coil at f = 2 sec is

@) 0.5A (b) 0.1 A
(c) 2A (d) 1A
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A conducting circular loop is placed in

a uniform magnetic field, B=0.025 T
with its plane perpendicular to the loop.

The radius of the loop is made to shrink
at a constant rate of 1 mm s~ !. The
induced emf when the radius is 2 cm, is

(a) 2m uVv (b) Tuv
(c) Fuv (d) 2 uV
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A 800 turn coil of effective area 0.05m?
is kept perpendicular to a magnetic field

5107 T. When the plane of the coil is
rotated by 90°around any of its coplanar
axis in 0.1 s, the emf induced in the coil

will be
(2 0.02V (b) 2V

(¢c) 0.2V (d) 2x10°V
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A-rectangular coil of 20 turns and area of ABLES o

cross-section 25 sq. cmhas a resistance
of 100 Q. If a magnetic field which is

perpendicular to the plane of coil changes
at a rate of 1000 tesla per second, the
current in the coil is

(a) 1A (b) 50 A
(c)-0.5A (d) 5A



A conducting square p—x—»
frame of side ‘a and a |} :
long straight wire carrying ,
current [ are located in —
the same plane as shown |

in the figure. The frame moves to the
right with a constant velocity “V’.The emf

induced in the frame will be proportional
to

»V

1 1
) (2Jc+a)2 (®) (2x—a)(2x+a)
1
©) = (d)

X (2x — a)2
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o ®
A magnetic field of 2x10*T acts at right R =2%) E’LT_ ABLES -
angles to a coil of area 100 cm?, with 50 N - 2 \;LX’ T

turns. The average e.m.f. induced in the U _2 B
coil is 0.1 V, when it is removed from the & =\s h"dP' ? F\Cb — ﬁ A
field in ¢ sec. The value of ¢ is E:’ S0 Q= N =

-2 _
— ng’ZX\b S(\bl
=\ X\Eq.:-..- \-67 L.)\:
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A thin semicircular SR,
conducting ring (PQR) of x xSy
radius r is falling with its ol x 7% \kx

plane vertical in a horizontal
magnetic field B, as shown in the figure.

The potential difference developed across
the ring when its speed is v, is
(a) zero

(b) BVE“’Z and P is at higher potential

(c) mrBv and R is at higher potential
(d) 2rBv and R is at higher potential

A BTES@KOTA
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An electron moves on a straight line
path XY asshown. The abcd is a coil
adjacent to the path of electron.What

will be the direction of current, if any,
induced in the coil?

a

...... pesemecccns@e— e eannnansannnaanna
electron Y

X
(a) The current will reverse its

direction as the electron goes past
the coil
(b) No current induced

(c) abcd
(d) adcb
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NG G /aecC
A metal ring is held horizontally and baxr
magnet is dropped through the ring ™
with its length along the axis of the

ring. The acceleration of the falling
magnet 1s

ABLES o

Y,

‘N

\
VA‘UL

4/
A

‘G NBSE> G ATV

(a) more than g (b) equaltetg \
\(¢) less than g (d) either(ayor (c) -/ % b
- ”~ 7”7
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